FOrReVER | REDWOOD

From the Forest, For the Forest since 1995
866.332.2403 (TOLL FREE); 7am — 7pm Pacific Time, Monday-Saturday

ASSEMBLY INSTRUCTIONS FOR THE




“uss sired ay) UO payJew sJaquinu 8y} 01 Yorew Jou op asay ] “AJuo aouaJajal 1o} aJe 3|qe sexogd Jo JUsIU0D) 8yl Ul Siaquinu 1ed

190N

ajbuell] |puoi4

suoddns Jooy 6Buo]

suoddns Jooy uoys

S1S0d

sjaued |[eM 1uoid

sjaued |/

‘AIen | im

Amnuend

suoddng J00]4 BuoT]

e
(I
=

suoddns Jooj4 10ys

‘ON

Buimeaqg

uondiiosag

A le)

S3X04d 40 LNJLNOD

Pl 1

STORAGE MINI BARNS
www. ForeverRedwood.com



“uas sired ay) UO paxJewW SJaquinu 8y} 01 Ydrew 1ou op 8say] "AJuo aoualajal 1o} aJe 3|qe] sexogd JO JUsIU0D) 8y Ul SIsquinu 1ied :810N

paJap.o }| AJeA ||Im

sl — saoelg aau Anuend

paJap.o §| AIeA |[Im

£ SBAIRYS Amnuend

‘AIen | im

€T slooQ Anuend

e I Ao

71 spJeog J0oy Anuend

‘AIen | im

11 S|aued Jooy Anuend

. ‘ a|BueL L >oeg 1

“AIen [ im

6 sajbuel] [enua) Anuend
‘'ON Buimeaqg uondiiosag ‘RO

S3X04d 40 LNJLNOD

P| 2

STORAGE MINI BARNS
www. ForeverRedwood.com



'9zIS uo Buipuadap AreA [[Im arempaey InoA Jo suolsuswiq ;810N

“(slrem aup
0] pue SAA[3YS 3y} 0] SaderI(Q 33Uy Y} Yyoene
01 / 'S||em 8y} 0} SBAJBYS 8U) yoene o)
SMaI2S Y29 _.€

“(11em [e1uouy 8y} 01 SI00p 8y YyoeNe 01)
SM312S 9P | 7

(sjaued Jool ay1 01 spJeOq J00J 3Y) yoene o)
SMaI3S X09a %4 ¢

[T T

‘(sjaued
[eJ1U39 8y 01 s|aued JOO0J 3yl yaene o])
siogd ... X .8/

VI D

“(1rem ayy 01 81BueLI oRQ BY) YIENE 01 )
s)og be vy X ,.9T/5

— VSIS II NI

“(sIrem ayy 03

s9|Buli [eUBD Y1 pue [RIUOI) AU YyoeNe 0])

SMa12S 28d ¥

"(sa1buern Ja1owiiad sy 01 sjaued Jood ayy
yoene 0 / "sjjem ay o3 sysod sy} yoene o)
siog .. X ,.9T/9

"(suoddns Joous ay1 01 sjaued [jem ay) yoene
0] / 'lay1ebol sjaued [jem ay1 yoene o])
siogd . % € X ..9T/S

‘(suoddns
100}J ay1 01 S[aued [jem ayl yoene o])
syog be .24z X ..8/€

‘ON

Buimeaqg

uondiiosag

1S1T13dvVMAYVH

P|3

STORAGE MINI BARNS
www.ForeverRedwood.com



[ |

llllllllll

/418, YT, -

) X - I".I ; 5

] L\ ‘T):n W g 2
N ! N :
g W/ M g
) V! ke \ 5
I 1 :
| i \ \ :
|I I| II ) = ) : Z
|I III I'I £ E
®

. STORAGE MINI BARNS
www. ForeverRedwood.com



Step 1: Attach the back walls panels (3) to the floor support (1,2) with 3/8”* x 2 %4”” lag bolts (A). The wall panels will be attached

together with 5/16°” x 3 %’ bolts (B). Each part has a series of numbers that indicate where to attach the part with the
corresponding number.

5/16" X 3% Bolts

3/8” X 2% Lag Bolts

Repeat this step to assemble the lateral walls.

P| 5
STORAGE MINI BARNS
www. ForeverRedwood.com



Step 2: Attach the front walls panels (4) to the front floor support (1) with 3/8°* x 2 %’ lag bolts (A). Each part has a series of
numbers that indicate where to attach the part with the corresponding number.

3/8"" X 2% Lag Bolts

Step 3: Use 5/16” x 5”” bolts (5) to attach the posts (C) to the walls. Each part has a series of numbers that indicate where to
attach the part with the corresponding number.

5/16” X 5" Bolts

P| 6

STORAGE MINI BARNS
www. ForeverRedwood.com



Step 4: Attach the roof supports (6,7) to the walls with 5/16”” x 3 '4”” bolts (B). Each part has a series of numbers that indicate
where to attach the part with the corresponding number.

5/16" X 3% Bolts

J/7i77)

T
I
T

[

/

LTI

/

Step 5: Use 4”” deck screws (D) to attach the frontal triangle (8) to the frontal walls. Each part has a series of numbers that
indicate where to attach the part with the corresponding number.

|

E\ | | ..
3 4" Deck Screws
\§
SSSS
SSS &
[

SRS

S

P|7

STORAGE MINI BARNS
www. ForeverRedwood.com



Step 6: Attach the central triangles (9) to the lateral walls with 4*” deck screws (D). Each part has a series of numbers that indicate
where to attach the part with the corresponding number.

o

%/

T L

e L
A gl

SS S ecalP

R iy [~ =I=7

ISSSSSS

\\Q §§ 4" Deck Screws
\s

Step 7: Use 5/16°” x 4°” lag bolts (E) to attach the back triangle (10) to the back walls. Each part has a series of numbers that
indicate where to attach the part with the corresponding number.

/ ‘
\

5/16" X 4" Lag Bolts

T

11/
1,

i,

T

[

Vi

111

4

i
LT

P| 8
STORAGE MINI BARNS
www. ForeverRedwood.com



Step 8: Attach the roof panels (11) to the perimeter triangles with 5/16”” x 5” bolts (C). After that, use 3/8’” x 7°” bolts (F) to
attach to the central triangles. Finally, put Exterior Clear Silicone on the roof panels joints. Each part has a series of numbers that

indicate where to attach the part with the corresponding number.

5/16” X 5" Bolts

//////////////I

T

T

/

[T

3/8” X 77 Bolts

Step 9: Measure the roof panels. After that, cut the #30 Felt Roof Deck Protection to those measurements. Use staples to attach
the #30 Felt Roof Deck Protection to the roof panels.

[T

///////////////

#30 Felt Roof
Deck Protection

i,

//////////////////

P|9
STORAGE MINI BARNS
www. ForeverRedwood.com



Step 10: Use 2 '4”” deck screws (G) to attach the roof boards (12) to the roof panels. Put the boards from the bottom to the top,
the overlapping between these boards it will be of 34”’. Each part has a series of numbers that indicate where to attach the part
with the corresponding number.

/

/

/

I

L)

LT

)

LT

i,

/

LT

/

Step 11: Attach the doors (13) to the front wall with 3%’ deck screws (H). Each part has a series of numbers that indicate where
to attach the part with the corresponding number.

%"~ Deck Screws

——

T

P| 10
STORAGE MINI BARNS
www. ForeverRedwood.com



If your Storage includes shelves, follow these instructions.

Step 12: Attach the shelves (14) to the walls with 3" Deck Screws (). Each part has a series of numbers that indicate where to
attach the part with the corresponding number.

3" Deck Screws

Step 13: Finally, use 3"" Deck Screws (1) to attach the knee braces (15) to the shelves and to the walls. Each part has a series of
numbers that indicate where to attach the part with the corresponding number.

P| 11

STORAGE MINI BARNS
www. ForeverRedwood.com




S
.. g

b, Faomemm ,/."
7 .

p—

This completes the Storage assembly. Hope you enjoy your set for many decades. If you ever have a problem or a question,
don't hesitate to call us (866 332 2403) or email us. We are here to support you.

P| 12
STORAGE MINI BARNS
www. ForeverRedwood.com



